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AN
THE O S ARSE2E(FA)

chol: HA H e (9 83)
A -3 A2 (3AH) - NIRAIY - BHS Off &FoH J|EH Huwsz

||| ous=s 19,500 23,500 24,000

N2 A (HAALA) 1,601,990 1,618,689 16,699

ST 1,481,773 1,476,090 5,683

222 oAl X 1,481,773 1,476,090 5,683

101 1248 1,000,453 990,250 10,203

02 g 1,000,453 990,250 10,203

ON=ELL 81,600 78,000 3,600

CEIE= PN 674,531 667,928 6.603

203 PREXY| 31,680 33,200 A 1,520

01 JIASAAREXIY| 6,080 7,600 21,520

CEIYES: 3,200 4,000 800

O QHF MIE| & 2,880 3,600 AT20

204 EPAEA| 449,640 452,640 £3,000

03 SHARLHE=Y| 291,120 294,120 £3,000

CLp I EE= ISt 0 3,000 £3,000

pICET 120,217 142,509 N22,382

S22 J|=23Y| 68,767 87,799 19,082

201 Ler2%| 42,293 51,757 19,464

01 AtRZeldl 37,855 47,319 19,464

SAH2HAI2 22 Y] 37,855 47,319 ~9,464

202 O4H 18,274 22,842 4,568

01 =2LHoit 18,274 22,842 4,568

ORANSYZLH0H| 18,274 22,842 4,568

405 KHaHE SH 8,200 13,200 A5,000

01 XMLSEHSH| 8,200 13,200 £5,000

OSASY #HARID| 2| 0 5,000 £5,000

OFR=Z AL 0 5,000 25,000

SxA 2 51,450 54,800 £3,350

201 Pt Ay 51,450 54,800 ~3,350

01 AtR2elbl 51,450 54,800 £3,350

0&7=7Y 1,850 3,700 1,850

O&ETZANE 1,500 3,000 21,500
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